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Name :  _____________________ 

Grade  :  VI I                                    

Subj ect  :  Mathemat ics  

Pinkz Public School 

MCQ Worksheet  -  I  

CHAPTER -  2.  FRACTI ONS AND DECI MALS 

1. Which of  t he f ollowing f r act ion has numer at or  5 

  a)		ଶହ b)   
ହ଻ c) 1 

ହ଻ d) 7 
ଵହ  

2. Which of  t he f ollowing f r act ion has denominat or  8 

  a) ଷ଼ b) 1 
ଷ଼
 c) 1 ଷ଼ d) 

ଷ଼
 

3. What  f r act ion does t he shaded por t ion in t he adj oining f ig. Repr esent s. 

 

  a) 
ହଶ b) 	ଷହ c) 

ଶହ d) 
ହଷ 

4. Which one of  t he f ollowing is pr oper  f r act ion? 

 a) 
଻ହ b) 

ଷଶ c) 
ସ଻ d) 

ସଷ 

5. Which of  t he f ollowing impr oper  f r act ion? 

 a) 
ଶଷ b) 

ହ଻ c) 
଻ସ d) 

ଵଶ 

6. What  is  value of  
ଶ଻  + 

ଷ଻ 

 a) 
ହଵସ b) 

ହ଻ c)  
଺଻ d) 

ଷହଵସ 

7. What  is t he value of  
ଷହ  + 

ଶ଻ 

 a) 
ହଵଶ   b) 

ଶଽଷହ c) 
ଷଵଷହ  d) 

ହଷହ 

8. What  is t he value of  
ଶଷ  + 

ଵଷ + 
଻ଷ 

 a) 
ଵ଴ଷ  b) 

ଵ଴ଽ  c) 
ଷ଴ଷ  d) 

ଵ଴ଶ଻ 

9. What  is t he value of  
ହ଼
  - 

ଷ଼
  

 a)  
ଷ଻ଵ଺ b) 

ଵ଼
 c) 

ଶ଼
 d) 

ସଷ଼
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MCQ Worksheet  -  I I  

1. What  is t he value of   
ସହ - 

ଶଷ 

  a)		ଶଶ b)   
ଵସଵହ c) 

ଶଵହ d) none of  t hese 

2. Which of  t he f ollowing dr awing shows 2 x  
ଵହ 

   

3. Which of  t he f ollowing dr awing shows 3 x  
ଷସ  = 2  

ଵସ 

   

 4. The value of    
ଵଶ  of  24 is 

 a) 12 b)  
ଵଵଶ   c) 48 d) 

ଵସ଼   

5. The pr oduct  of  
ଷସ and  

ଵହ gives 

 a) 
ଷଶ଴ b)  

ହଵଶ   c) 
ଵଶହ  d) 

ଶ଴ଷ    

6. Which of  t he f ollowing  pr oduct  gives t he value  
଻ହ଼  

 a) 3 x 5  
ଵହ   b)  

ଵଷ   c) 3 x  
ହଶ଺   d) None of  t hese 

7. The pr oduct  of  
ଶହ	x 5 

ଵସ gives 

 a)		ଵଶ b)   
ଶଵଵ଴ c) 

ଵଵଵ଴ d) 
ଵହଵ଴ 

8. The r ecipr ocal of  1 
ଶଷ  is 

 a)		ଷଶ b)  1 
ଷଶ c) 

ହଷ d) 
ଷହ 
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9. The Value of    
ଷସ  of   12 is 

 a)		16 b)  1 c) 9 d) 
ଵଵ଺ 

10. The Value of  3 
ଵଶ  of  ଷ଼ is 

 a)		4 b)  
ଶଷ଼  c) 

ଽସ d) 
ଶଵଵ଺ 

11. The Value of  4 
ଵଷ  of  3 is 

 a)		4 b)  13 c) 
ଵଷଽ  d) 

ଽଵଷ 

12. Which of  t he f ollowing is t he least  f r om of   
ଵ଼ଷ଺  is 

 a)		ଷ଺ b)   
ଽଵ଼ c) 

ଵଶ d) 
ଶଵ 

13. What  is t he sum  of  5,300 and 3,250  

 a) 8.550 b) 85.50 c) 5.6250 d) 8550 

14. What  is t he value of  29.35 – 04.56 

 a) 23.75 b) 16.35 c) 16.25 d) 24.79 

15. Which one of  t he f ollowing is gr eat er  

 a) 5.0 b) 0.5 c) 0.005 d) 0.05   
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MCQ Worksheet  -  I I I  

1. Which one of  t he f ollowing is smaller  

 a) 2.031 b) 2.301 c) 0.2301 d) 23.01 

2. 7 Rupees 7 paisa can be wr it t en in r upees as    

 a) Rs7.07 b) Rs7.70 c) Rs0.707 d) Rs770 

3. 5 cm in km can be wr it t en as  

 a) 0.0005 b) 0.00005 c) 0.0005 d) 0.05 

4. The place value of  2 in 21.38 is  

 a) Ones b) Tens c) Tent h d) Hundr edt h 

5. Which one of  t he f ollowing r epr esent  t he expansion 

 2 x 1 0 + 0 x 1 + 0 x 
ଵଵ଴  + 3 x 

ଵଵ	଴	଴	 
 a) 20.03 b) 2.03 c) 200.03 d) 2.034 

6.The value of  2.71 x 5 is 

 a) 135.5 b) 1355 c) 13.55 d) 1.355 

7. The pr oduct  of  153.7 and 10 is 

 a) 1.537 b) 15.37 c) 153.7 d) 1537 

8. The value of  43.07 x 100 is 

 a) 4.307 b) 4307 c) 43.07 d) 430.7 

9. The value of  0.03 x 1000 is 

 a) 0.00003 b) 3 c) 0.003 d) 30 

10. The value of  1.3 x  3.1 is 

 a) 403 b) 0.403 c) 4.03 d) 0.0403 

11. The value of  0.80 ÷  5 is 

 a) 16 b)  0.16 c) 
ଵଵ଺ d) 1.6 

12. The value of  52.5 ÷  10 is 

 a) 5.25 b) 0.525 c) 525 d) 5250 

13. The value of  0.78 ÷ 	 100 is  

 a) 7800 b) 0.0078 c) 0.78 d) 7.8 

14. The value of  26.3 ÷ 	 1000 is 

 a) 0.0263 b) 0.2630 c) 26300 d) 26.300 

15) The value of  7.75 ÷ 	 0.25 is 

 a) 31 b) 0.0031 c) 0.31 d) 3.1 
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PRACTI CE QUESTI ONS 

1.  Fill in t he blanks: 

 a)			ଵଵ	ଵ଺ ___			ଵସ	ଵହ  

  b) 	 	଼	ଵହ ___			ଽହ	ଵସ  

  c) 		ଵଶ	଻ହ ___		 	ଷଶ	ଶ଴଴.  

2. Ali divided one f r uit  cake equally among six per sons.  What  par t  of  t he cake he gave t o each  

    per son? 

3. Expr ess 
ଵଵଶ଴    as  a decimal. 

4. Expr ess 6 
ଶଷ  as an impr oper  f r act ion. 

5. Expr ess 3 
ଶହ  as a decimal. 

6. Expr ess 0.041 as a f r act ion. 

7. Expr ess 6.03 as a mixed f r act ion. 

8. Ar r ange t he f r act ions 
ଶଷ ,  

ଷସ, 		ଵଶ   and  
ହ଺ in ascending or der . 

9. Ar r ange t he f r act ions 
଺଻ ,  

଻଼
, 		ସହ   and  

ଷସ in descending or der . 

10. Wr it e 
ଷସ as a f r act ion wit h denominat or  44. 

11. Wr it e 
ହ଺ as a f r act ion wit h numer at or  60. 

12.  Wr it e 
ଵଶଽ଼   as a mixed f r act ion. 

13. Add t he f r act ions 
ଷ଼
 and 

ଶଷ. 

14.  Add t he f r act ions 
ଷ଼
 and 6 

ଷସ. 

15. Subt r act  
ଵ଺  f r om  

ଵଶ. 

16. Subt r act  8 
ଵଷ  f r om  

ଵ଴଴ଽ . 

17. Subt r act  1 
ଵସ  f r om 6 

ଵଶ. 

18. Add 1 
ଵସ  and 6  

ଵଶ. 

19. Kar t ina r ode her  bicycles 	6	 ଵଶ  km in t he mor ning and  8  
ଷସ km in t he evening.  Find t he  

     dist ance t r avelled by her  alt oget her  on t hat  day. 

20. A r ect angle is divided int o cer t ain number  of  equal par t s.  I f  16 of  t he par t s so f or med  

      r epr esent  t he f r act ion 
ଵସ , f ind t he number  of  par t s in which t he r ect angle has been  divided. 

21. Gr ip size of  a t ennis r acquet  is  11  
ଽ଼଴  cm.  Expr ess t he size as an impr oper  f r act ion. 
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22. Mr . Raj an got  a j ob at  t he age of  24 year s and he got  r et ir ed f r om t he j ob at  t he age of  60  

      year s.  What  f r act ion of  his age t ill r et ir ement  was he in t he j ob. 

23. On an aver age 
ଵଵ଴ of  t he f ood eat en is t ur ned int o or ganism’s own body and is available f or   

      t he next  level of  consumer  in a  f ood chain.  What  f r act ion of  t he f ood eat en is not  available  

      f or  t he next  level? 

24. The f ood we eat  r emains in t he st omach f or  a maximum of  4 hour s.  For  what  f r act ion of  a  

       day does it  r emain t her e? 

25. I t  was est imat ed t hat  because of  people swit ching t o Met r o t r ains, about  33000 t onnes  

       of  CNG, 3300 t onnes of  diesel and 21000 t onnes of  pet r ol was saved by t he end of   

       year  2007.  Find t he f r act ion of  :  

  (i) The quant it y of  diesel saved t o t he quant it y of  pet r ol saved.   

  (ii) The quant it y of  diesel saved t o t he quant it y of  CNG saved. 

26. A cup is 	ଵଷ f ull of  milk.  What  par t  of  t he cup is st ill t o be f illed by milk t o make it  f ull? 

27. Mar y bought   3 
ଵଶ m of  lace.  She used 1 

ଷସ  m of  lace f or  her  new dr ess.  How much lace is  

      lef t  wit h her . 

28. Sunil 12 
ଵଶ lit r es of  j uice on Monday and 14 

ଷସ	 lit r es of  j uice on Tuesday.  How many lit r es of   

      j uice did he pur chase t oget her  in t wo days? 

29. When Sunit a weighed her self  on Monday, she f ound t hat  she had gained 1  
ଵସ kg. Ear lier  her   

       weight  was 46 
ଷ଼
 kg.  What  was her  weight  on Monday? 

30. Nazima gave 2 
ଷସ  lit r es out  of  t he 5 

ଵଶ lit r es of  j uice she pur chased t o her  f r iends.  How   

      many lit r es of  j uice is lef t  wit h her ? 

31. Roma gave a wooden boar d of  lengt h 150  
ଵସ	 cm  t o a car pent er  f or  making a shelf . The  

     car pent er  sawed of f  a piece of   40  
ଵହ	 cm f r om it .  What  is t he lengt h of  t he r emaining piece? 

32. Nasir  t r avelled 3  
ଵଶ	 km  in a bus and t hen walked  1  

ଵ଼
  km t o r each a t own.  How much did he  

      t r avel t o r each t he t own. 

33. The f ish caught  by Neet u was of  weight  3  
ଷସ kg and t he f ish caught  by Nar endr a was  

       weight   2  
ଵଶ.  How much mor e did Neet u’s f ish weigh t han t hat  of  Nar endr a? 

34. Neelam’s f at her  needs  1 
ଷସm of  clot h f or  t he skir t  of  Neelam’s new dr ess and 

ଵଶ m f or  t he  

      scar f .  How much clot h must  he buy in all? 
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35. Wr it e a pair  of  f r act ions whose sum is   
଻ଵଵ and t he dif f er ence is   

ଶଵଵ. 

36. Simplif y :  
ହ଺  + 

ଷସ + 
ଵଶ. 

37. Simplif y :  
ହ଼
  + 

ଶହ + 
ଷସ. 

38. Simplif y :  
ଷଵ଴  + 

଻ଵହ + 
ଷହ. 

39. Simplif y : 4 
ଶଷ  + 3 

ଵସ + 7	 ଵଶ. 

40. Simplif y : 7 
ଵଷ  + 3 

ଶଷ + 5	 ଵ଺. 

41. Simplif y : 2 
ଵଷ  + 1 

ଶଷ + 5	 ଵ଺. 

42. Simplif y : 2 
ଵଷ  - 1 

ଶଷ + 5	 ଵ଺. 

43. Simplif y : 7 
ଵଷ  + 3 

ଶଷ - 5	 ଵ଺. 

44.  I f   
ହ଼	 =  

ଶ଴௣	  , t hen f ind t he value of  p. 

45. Ar r ange in descending or der  ଵ଼଻ ,  ହ଼, 		ଽ଼  , ଵ଼ଷ 

46. Ar r ange in descending or der  
ହଽ ,  

ଷଵଶ, 		ଵଷ  , 
ସଵହ 

47. Ar r ange in descending or der  
ଶ଻ ,  

ଵଵଷହ, 		 ଽଵସ  , 
ଵଷଶ଼ 

48. Ar r ange in ascending or der  
ଶହ ,  

ଷସ, 		ଵଶ  , 
ଷହ 

49. Ar r ange in ascending or der  
ସ଺ ,  

ଷ଼
, 		 ଺ଵଶ  , 

ହଵ଺ 

50. Ar r ange in ascending or der  
ହ଺ ,  

ଷ଼
, 		 ଺ଵଶ  , 

ଵଷ, 
଺଼
 

51. Ramesh solved  
ଶ଻ par t  of  an exer cise  while Seema  solved 

ସହ of   it .  Who solved lesser  par t ? 

52. Sameer a pur chased 3 
ଵଶ kg apples  and 4  

ଷସ	 kg or anges. What  is  t he t ot al  weight  of  f r uit s   

      pur chased by her ? 

53. Suman st udies f or  5 
ଶଷ hour s daily.  She devot es 2

ସହ hour s of  her  t ime f or  science and  

      Mat hemat ics.  How much t ime does she devot e f or  ot her  subj ect s? 

54. Ar r ange t he f ollowing  in descending or der . 

55. A r ect angular  sheet  of  paper  is 12 
ଵଶ   cm long and 10 	 ଶ	ଶ  cm wide.  Find it s per imet er . 

56. Find t he per imet er s of  (i) ABE (ii) t he r ect angle BCDE in t his f igur e.  Whose per imet er  is  

      gr eat er ? 
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57. Rit u at e
ସହ  par t  of  an apple and t he r emaining apple was eat en by her  br ot her  Somu.  How  

      much  par t  of  t he apple did some eat ? Who had t he lar ger  shar e? By how much? 

58. Michael f inished colour ing a pict ur e in 
଻ଵଶ hour ,  Vaibhav f inished colour ing t he same pict ur e  

      in 
ଷ	ସ		 hour . Who wor ked longer ? By what  f r act ion was it  longer ? 

59. Repr esent  pict or ially :  2 x 
ଶହ  = 

ସହ 

60.  I n  a class of  40 st udent s 
ଵହ	 of  t he t ot al number  of  st udent s like t o st udy English, 

ଶହ of  t he  

       t ot al number  like t o st udy mat hemat ics and t he r emaining st udent s like t o st udy Science. 

  i) How many st udent s like t o st udy English? 

  ii) How many st udent s like t o st udy  Mat hemat ics? 

  iii) What  f r act ion of  t he t ot al number  of  st udent s like t o st udy Science? 

61. Find 
ଵଶ of  (i) 24  (ii) 46 

62. Find  
ଷସ of  (i) 16  (ii) 36 

63. Mult iply and expr ess as a mixed f r act ion: 

 a) 3 x 5 
ଵହ  b)  5 x 6 

ଷସ  c) 3 
ଵସ x 6 d) 3 

ଶହ x 8 

64. Find  
ଵଶ  of   i) 2 

ଷସ ii) 4 
ଶଽ 

65. Find  
ହ଼
  of   i) 3 

ହ଺ ii) 9 
ଶଷ 

66. Sushant  r eads 
ଵଷ   par t  of  a book in 1 hour .  How much par t  of  t he  book will be r ead  

       in 2 
ଵହ  hour s? 

67. Vidya and Pr at ap went  f or  a picnic.  Their  mot her  gave t hem a wat er  bag t hat  cont ained  

      5 lit r es of  wat er .  Vidya consumed 
ଶହ of  t he wat er  . Pr at ap consumed t he r emaining wat er .  

  i) How much wat er  did Vidya dr ink? 

  ii) What  f r act ion of  t he t ot al quant it y of  wat er  did Pr at ap dr ink? 

68. Saili plant s 4 saplings, in a r ow, in her  gar den.  The dist ance bet ween t wo adj acent  saplings  

      is 
ଷସ m.  Find t he dist ance bet ween t he f ir st  and t he last  sapling. 

69. Lipika r eads a book f or   1 
ଷସ hour s ever y day. She r eads t he ent ir e book in 6 days.  How many  

      hour s in all wer e r equir ed by her  t o r ead t he book? 

70. A car  r uns 16 km using 1 lit r e of  pet r ol.  How much dist ance will it  cover  using 2 
ଷସ lit r es of   

      pet r ol. 

71. Find (i) 
ଶହ ÷  

ଵଶ (ii) 2
ଵଷ ÷  

ଷହ  (iii) 3
ଵହ ÷  1	 ଶଷ  iv) 2

ଵହ ÷  1	 ଵହ 
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72. Expr ess in kg : 

 a) 200 g b) 3470 g c) 4 kg 8 g d) 2598 mg 

73. Wr it e t he f ollowing decimal. Number s in t he expanded f or m: 

 i) 20.03 ii) 2.03 iii) 200.03 iv)2.034 

74. Wr it e t he place value of   2 in t he f ollowing decimal number s 

 i) 2.56 ii) 21.37 iii) 10.25 iv) 9.42 

 v) 63.352 

75. Expr ess as r upees using decimals 

 a) 5 paise   b) 350 paise  

  c) 2 r upees  60 paise  d) 5 r upees 9 paise 

76. Expr ess as met r es using decimals 

 a) 15 cm b) 8 cm c) 2m 15 cm d) 3 m 70 cm 

77. Expr ess as cm using decimals 

 a) 25 mm b) 5 mm c) 176 mm d) 4 cm 5 mm 

78. Expr ess as km using decimals. 

 a) 6 m  b) 55 m c) 4545m d) 6 km 50 m 

79. Expr ess as km using decimals 

 a) 8 g             b) 160 g  c) 7550 g  

  d) 6 kg 80 g             e) 5 kg 20 g 

80. Expr ess each of  t he f ollowing wit hout  using decimals: 

 a) Rs.5.25 b) 8.354 g c) 3.5 cm d) 3.05 km 

 e) 7.54 m f ) 15.005 kg g) 12.05 m h) 0.2 m 

81. Shyam bought  5 kg 300 g apples and 3 kg 250 g mangoes.  Sar ala bought  4 kg 800 g or anges  

      and 4 kg 150 g bananas.  Who bought  mor e f r uit s. 

82. How much less is 28 km t han 42.6 km? 

83. The side of  an equilat er al t r iangle is 3.5 cm.  Find it s per imet er . 

84. The lengt h of  a r ect angle is 7.1 cm and it s br eadt h is 2.5 cm What  is t he ar ea of  t he  

       r ect angle? 

85. A t wo- wheeler  cover s a dist ance of  55.3 km in one lit r es of  pet r ol.  How much dist ance will  

      it  cover  in 10 lit r es of  pet r ol? 

86. Find t he ar ea of  r ect angle  whose lengt h is 5.7 cm and br eadt h is 3cm 

87. Find t he aver age of  4.2, 3.8 and 7.6 
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88. Each side of  a r egular  polygon is 2.5 cm in lengt h.  The per imet er  of  t he polygon is 12.5 cm.   

       How many sides does t he polygon have? 

89. A car  cover s a dist ance of  89.1 km in 2.2 hour s.  What  is t he aver age dist ance cover ed by it   

      in 1 hour . 

90. Conver t  2009 paise t o r upees and expr ess t he r esult   as a mixed f r act ion. 

91. Conver t  1537 cm t o m and expr ess t he r esult  as an impr oper  f r act ion 

92. Conver t 2435 m t o km and expr ess t he r esult  as mixed f r act ion 

93. Expr ess 0.041  as a f r act ion. 

94. A vehicle cover s a dist ance of  43.2 km in 2.4 lit r es of  pet r ol.  How much dist ance will it   

      cover  in one lit r e of  pet r ol. 

95.  Find  : 

 (i) 7÷  3.5 (ii) 36÷  0.2 (iii) 3.25 ÷  0.5 (iv) 30.94 ÷  0.7 

 (v) 0.5÷  0.25 (vi) 7.75÷  0.25 (vii) 76.5  ÷ 0.15 (viii)37.8 ÷ 1.4 

 (ix) 2.73 ÷ 	1.3 

96. Find : 

 (i) 7.9 ÷  1000 (ii) 26.3 ÷ 1000 (iii) 38.53 ÷  1000     (iv)  128.9 ÷  1000 

 (v) 0.5 ÷  1000 

97. Find : 

 (i) 0.4 ÷ 2 (ii) 0.35 ÷   5             (iii)2.48 ÷  4              (iv) 65.4 ÷  6 

           (v) 651.2 ÷  4             (vi) 14.49  ÷  7           (vii)3.96 ÷  4      (viii) 0.80 ÷   5    

98. Find : 

        (i) 7.75 ÷ 0.25 (ii) 42.8 ÷  0.02 (iii) 5.6 ÷ 1.4 

99. Find :  

  (i) 15.5 ÷  5           (ii) 126.35 ÷ 7 

100. Find : 

    (i) 2.5 x 0.3         (ii)  0.1 x 51.7             (iii)  0.2 x 316.8      (iv) 1.3 x 3.1 

           (v) 0.5 x 0. 05       (vi) 11.2 x 0.15   (vii) 1.07 x 0.02 (viii) 10.05  x 1.5   

  (ix) 101.01 x 0.01 (x) 100.01 1.1 


